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~Answer question No. 1 and any four from the rest.

1. Answer following questions by choosing the correct

option :- 4 . (10x1=10)
(i)  Which of the foilowing 1s a feature of sociology?
(a) Sociology. is a natural science
~(b) Soc‘iology i1s an appiied science
(¢)  Sociology is a particularizing séienc‘e

(d) Sociology is a pure science.
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(1) In which of the following years the term sociology
was coined by August comte?

(a) 1938
(b) 1839
(c) 1876

(iii) An Institution is composed of
(a) A group of people
(b) Norms and values

(¢) = Rules and procedures

(iv) Which one of the following is a bond of unity?
(a) Likeness
(b) Sense of sympathy

(¢) Norms and procedures

(d) Religion

(v)  Which one of the following in chief agencies of

socialization?
(a) School (b) Society
(¢0 Community (d) The family

(vi)  Who one of the following thinkers classified social

<

group as “In-group”™“Out-group”?
(a) Auguste Comte |

(b) C.H. Cooley

(¢) D. Sonderson |

(d) W. Sumner
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(vi1) Oﬁ what basis family is classified as patrilineal and

matrilineal?
(a) Structure (b) Bloo_d relationship
(c) Authority (d) = Ancestry

(viii) Which one of the following is a cause of Industrial

(ix)

(%)

| (a)

(b).

and unemployment?
(a) Mechanisation of industry
(b)  Urbanisation BINA CHOWDHURY CENTRAL LIBRARY

, - (GIMT & GIPS)
(¢)° Modernisation Azara, Hatkhowapara,

(d) Lack of proper IndustﬁMaB‘?ﬁfg}g? Udwnfall of
- the industry, competition with foreign
~ Industry.

For what favour The National Educatlon Folicy
1986 was made‘?

(a) Adult
(b) For all section of people
(¢) For children

(d) For empowering women

~

Which one of the following is a significant cause of
poverty?

(a) Lack of education

(b) Unemploymeht |

(¢) Defective political .system and lack of political
will

Define sociology. Discuss on the importance 6f

sociology. _ - (2+6=8)

Define social institution. What are the main
characteristics of social institution? (2+5=7)
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3.  (a)

(b)

40

(b)

0. (a)

(b)

6. (a) |

(b)

Define culture and civilization. Distinguish
between culture and | civilization
(any four points). (2+6+6=10)

Write five characteristics of social disorganisation.

(5)
What is meant by gender discrimination? Explain
any four aspects of gender dicrimination. (1+8=9)

Discuss economic and social consequences of black
money. ()
Define Trade Union. Discuss the advantages of
Trade Union. S (2+6=8) .

What is meant by industrial disputes? Explain any
three methods of settlement of Industrial Disputes.

‘ (1+6=T7)"
Write the objectives of worker’s participation in
management. (5)

What is meant by Human resources? How human
resource management ' becomes significant in
business organizations? Discuss any four points.

(2+8=10)
7.  Write short notes on any three of the following:
AR (5+5+5=10)
(@) Corruption BINA CHOWDHURY CENTRAL LIBRARY
| (GIMT & GIPS)
(b)  Unemployment Azara, Hatkhowapara,
(¢) Factors affecting -productivigquahah Sy
(d) The Factories Act—1948
(e) Changing gender role in modern society.
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